
In[8]:= SolveA9a2 == y2 + x2=, yE

Out[8]= ::y ® - a2 - x2 >, :y ® a2 - x2 >>

In[10]:= SolveA9b2 == y2 + Hr - xL2=, xE

Out[10]= ::x ® r - b2 - y2 >, :x ® r + b2 - y2 >>

In[6]:= EliminateA9a2 == y2 + x2, b2 == y2 + Hr - xL2=, xE

Out[6]= -b4 + 2 b2 r2 - r4 - 4 r2 y2 � a4 + a2 I-2 b2 - 2 r2M

In[17]:= SolveA9-b4 + 2 b2 r2 - r4 - 4 r2 y2 � a4 + a2 I-2 b2 - 2 r2M=, yE

Out[17]= ::y ® -

ä a4 + b4 - 2 b2 r2 + r4 + a2 I-2 b2 - 2 r2M

2 r
>, :y ®

ä a4 + b4 - 2 b2 r2 + r4 + a2 I-2 b2 - 2 r2M

2 r
>>

In[18]:= EliminateA9a2 == y2 + x2, b2 == y2 + Hr - xL2=, yE

Out[18]= b2 - r2 + 2 r x � a2

In[20]:= SolveAb2 - r2 + 2 r x � a2, xE

Out[20]= ::x ®
a2 - b2 + r2

2 r
>>

In[21]:= SimplifyA-b4 + 2 b2 r2 - r4 - 4 r2 y2 � a4 + a2 I-2 b2 - 2 r2ME

Out[21]= a4 + b4 + r4 + 4 r2 y2 � 2 b2 r2 + 2 a2 Ib2 + r2M

In[22]:= SolveAa4 + b4 + r4 + 4 r2 y2 � 2 b2 r2 + 2 a2 Ib2 + r2M, yE

Out[22]= ::y ® -
-a4 + 2 a2 b2 - b4 + 2 a2 r2 + 2 b2 r2 - r4

2 r
>, :y ®

-a4 + 2 a2 b2 - b4 + 2 a2 r2 + 2 b2 r2 - r4

2 r
>>
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